
1. Write the length of one arch of y = sinx.

2. Sketch the region bounded by x = 2 and x = y2 − 2.

(a) Find the length of a vertical slice and a horizontal slice.

(b) Write integrals for the volume of a solid obtained by ro-

tating the region around

i. x = −4

ii. y = 5

(c) Write an integral for the volume of the solid with base in

the shape of the region above and

i. square cross sections

ii. semi-circular cross sections

3. Consider the hyperbola x2 − y2 = 1 in the figure below.

(a) The shaded region 2 ≤ x ≤ 3 is rotated around the x-axis.

What is the volume generated?

(b) What is the arc length with y ≥ 0 from x = 2 to x = 3?
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